

EM for Ridge different parametrizations

① $y \sim N(Xb, \sigma^2)$
 $b \sim N(0, s_b^2 I)$

$Y \sim N(0, X^T X s_b^2 + \sigma^2 I)$
 $= N(0, s_b^2 (X^T X + \frac{\sigma^2}{s_b^2} I))$

$$\begin{aligned} \log p(y, b | s, s_b) &= -\frac{p}{2} \log 2\pi s_b^2 - \frac{1}{2s_b^2} \|b\|_2^2 - \frac{n}{2} \log 2\pi \sigma^2 - \frac{1}{2\sigma^2} \|y - Xb\|_2^2 \\ &= -\frac{p}{2} \log 2\pi s_b^2 - \frac{n}{2} \log 2\pi \sigma^2 - \frac{1}{2} \left[\frac{y^T y}{\sigma^2} + b^T \left(\frac{X^T X}{\sigma^2} + \frac{I}{s_b^2} \right) b - \frac{2y^T X b}{\sigma^2} \right] \\ &= -\frac{p}{2} \log 2\pi s_b^2 - \frac{n}{2} \log 2\pi \sigma^2 - \frac{1}{2\sigma^2} \left[y^T y + b^T \left(X^T X + \frac{\sigma^2}{s_b^2} I \right) b - 2y^T X b \right] \end{aligned}$$

$b | y \sim N(\mu_1, \Sigma_1)$

$\Sigma_1^{-1} = \frac{1}{\sigma^2} \left(X^T X + \frac{\sigma^2}{s_b^2} I \right)$

$\Sigma_1^{-1} \mu_1 = \frac{X^T y}{\sigma^2}$

$\mu_1 = \left(X^T X + \frac{\sigma^2}{s_b^2} I \right)^{-1} X^T y = V^{-1} X^T y$

$\Sigma_1 = \sigma^2 \left(X^T X + \frac{\sigma^2}{s_b^2} I \right)^{-1} = \sigma^2 V^{-1}$

$$E(\log p(y, b | s, s_b)) = -\frac{p}{2} \log 2\pi s_b^2 - \frac{n}{2} \log 2\pi \sigma^2 - \frac{1}{2\sigma^2} \left[y^T y + b^T \left(X^T X + \frac{\sigma^2}{s_b^2} I \right) \left[\mu_1 \mu_1^T + \Sigma_1 \right] - 2y^T X \mu_1 \right]$$

$$\frac{\partial}{\partial \sigma^2} = -\frac{n}{2\sigma^2} + \frac{1}{\sigma^4} \left[y^T y + b^T \left(X^T X + \frac{\sigma^2}{s_b^2} I \right) \left[\mu_1 \mu_1^T + \Sigma_1 \right] - 2y^T X \mu_1 \right] \Rightarrow \hat{\sigma}^2 = \frac{1}{n} [E \|y - Xb\|_2^2]$$

$$\frac{\partial}{\partial s_b^2} = -\frac{p}{2s_b^2} - \frac{1}{\sigma^2 s_b^4} [E \|b\|_2^2] \Rightarrow \hat{s}_b^2 = \frac{1}{p} [E \|b\|_2^2] = \frac{1}{p} b^T [\mu_1 \mu_1^T + \Sigma_1]$$

② $y \sim N(s_b X b, \sigma^2)$

$b \sim N(0, I)$

$$\log p(y, b | s, s_b) = \frac{p}{2} \log 2\pi - \frac{1}{2} \|b\|_2^2 - \frac{n}{2} \log 2\pi \sigma^2 - \frac{1}{2\sigma^2} \|y - s_b X b\|_2^2$$

$b | y \sim N(\tilde{\mu}_1, \tilde{\Sigma}_1)$

$\tilde{\Sigma}_1^{-1} = \frac{1}{\sigma^2} \left(s_b^2 X^T X + s_b^2 I \right) = \frac{s_b^2}{\sigma^2} \left(X^T X + I \right)$

$\tilde{\mu}_1 = \frac{\sigma^2}{s_b^2} \left(\frac{s_b^2}{\sigma^2} X^T X + I \right)^{-1} X^T y = \frac{1}{\sigma^2} \left(X^T X + I \right)^{-1} X^T y = \frac{1}{\sigma^2} \mu_1^{obs}$

$$\tilde{\Sigma}_1^{-1} \tilde{\mu}_1 = \frac{X^T y s_3}{s^2} = \begin{pmatrix} s_3 \\ s^2 \end{pmatrix} X^T X + I \quad \tilde{\Sigma}_1 = \frac{s_3}{s^2} \left(X^T X + \frac{s^2}{s_3^2} I \right)^{-1} \begin{bmatrix} \frac{1}{s_3^2} \Sigma_1 & 0 \\ 0 & \dots \end{bmatrix}$$

$$\frac{\partial}{\partial s^2} = -\frac{n}{2s^3} + \frac{1}{2s^2} E \|y - s_3 X b\|_2^2 \quad \hat{s}_3^2 = \frac{1}{n} E \|y - s_3 X b\|_2^2$$

$$\frac{\partial}{\partial s_3^2} = -\frac{1}{2s_3^3} \left[-2y, X^T y + 2s_3 E [b^T X^T X b] \right] \Rightarrow \hat{s}_3 = \frac{y, X^T y}{E(b^T X^T X b)} \quad \left(\frac{1}{E(s_3^2)} \right)$$

③ $y = s_3 (h X b + \sqrt{1-h^2} E) \quad e \sim N(0, I) \quad s_3^2 = s_3^2 (1-h^2)$
 $b \sim N(0, I)$

$$\log p(y, b | s_3, h) = \frac{1}{2} \log 2\pi - \frac{1}{2} \|b\|_2^2 - \frac{n}{2} \log 2\pi s_3^2 - \frac{1}{2s_3^2} \|y - s_3 h X b\|_2^2$$

$$b | y \sim N(\tilde{\mu}_1, \tilde{\Sigma}_1) \quad \tilde{\mu}_1 = \frac{1}{s_3 h} \mu_1 \quad \tilde{\Sigma}_1 = \frac{1}{s_3^2 h^2} \Sigma_1$$

$$\begin{aligned} \log p(y, b | s_3, h) &= -\frac{n}{2} \log s_3^2 - \frac{n}{2} \log(1-h^2) - \frac{1}{2s_3^2(1-h^2)} (y^T y - 2s_3 h b^T X^T y + s_3^2 h^2 b^T X^T X b) \\ &= -\frac{n}{2} \log s_3^2 - \frac{n}{2} \log(1-h^2) - \frac{1}{2s_3^2(1-h^2)} y^T y + \frac{1}{2s_3} \frac{h}{1-h^2} b^T X^T y - \frac{1}{2} \frac{h^2}{1-h^2} (b^T X^T X b) \end{aligned}$$

$$\frac{\partial}{\partial s_3^2} = -\frac{n}{s_3} + \frac{2 y^T y}{2s_3^3(1-h^2)} + \frac{1}{2s_3^2} \frac{h}{1-h^2} b^T X^T y$$

$$= 0 \text{ at } s_3^2 =$$

quadratic in s_3^2
 \dots

④ $y \sim s (X b + e) \quad b \sim N(0, \frac{s^2}{s^2})$

$$\begin{aligned} \log p(y, b | s, s^2) &= -\frac{1}{2} \log 2\pi \frac{s^2}{s^2} - \frac{1}{2} \frac{s^2}{s^2} b^T b - \frac{n}{2} \log 2\pi s^2 \\ &\quad - \frac{1}{2s^2} (y - s X b)^T (y - s X b) \end{aligned}$$

$$\frac{\partial}{\partial s^2} = -\frac{1}{2} \frac{1}{s^2} + \frac{1}{2s^4} E(b^T b)$$

$$\hat{s}_b^2 = \frac{1}{P} s^2 E(b^T b)$$

$$\Sigma_1^{-1} \mu_1 = \frac{1}{s} X^T y$$

$$\Sigma_1^{-1} = \left(X^T X + \frac{s^2}{s^2} I \right)$$

$$\frac{\partial}{\partial s^2} = \frac{p}{2} \frac{1}{s^2} - \frac{n}{2} \frac{1}{s^2} - \frac{1}{2s^2} b^T b + \frac{1}{2s^4} y^T y \dots$$

$$\Sigma_1 = V \quad \gamma_1 = \frac{1}{s} V^{-1} X^T y$$

quadratic in s^2 .

⑤ $y \sim s_b X b + e \quad b \sim N(0, X^2) \quad e \sim N(0, s^2)$

$$p(y, b | s, \lambda, s^2) = -\frac{p}{2} \ln 2\pi X^2 - \frac{0.5}{\lambda^2} b^T b - \frac{n}{2} \ln 2\pi s^2 - \frac{\|y - X s_b b\|_2^2}{2s^2}$$

$$p(b|y) \sim N(\gamma_1, \Sigma_1)$$

$$\Sigma_1^{-1} = \frac{1}{s_b^2} \left(s_b^2 X^T X + \frac{s^2}{\lambda^2} I \right) = \frac{s_b^2}{s^2} \left(X^T X + \frac{s^2}{\lambda^2 s_b^2} I \right)$$

$$\hat{\Sigma}_1^{-1} \gamma_1 = \frac{s_b}{s^2} X^T y$$

$$\frac{\partial}{\partial \lambda^2} = -\frac{p}{2\lambda^2} + \frac{0.5}{\lambda^4} b^T b \Rightarrow \hat{\lambda}^2 = \frac{1}{p} E(b^T b) \quad \left(\begin{array}{l} s_b \rightarrow \infty \\ s_b \text{ in } \textcircled{1} \end{array} \right)$$

$$\frac{\partial}{\partial s^2} = -\frac{n}{2s^2} + \frac{1}{2s^2} E \left(\|y - X s_b b\|_2^2 \right)$$

$$= \hat{s}^2 = \frac{1}{n} E \left(\|y - X s_b b\|_2^2 \right) \quad [\infty \text{ in } \textcircled{2}]$$

$$\frac{\partial}{\partial s_b^2} = \infty \text{ in } \textcircled{2} \Rightarrow s_b^2 = \frac{\mu_1 X^T y}{E(y^T X^T X y)}$$